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Dyukuusa y = sin Xx.
1. Anvikmany oonavicol —0apaviK Hakmul canoap cuvinolt. (R )

2. Manoep oonwvicer - [-1;5 1].

3. Dyukyua y =sin o -max,, Sin (- a) =-sin a
4. @ynukuusa nepuoomwlt , 2.

sin (a + 2w ) = sin a.
5. @yukuus y30iKcis3.

6. Oceoi:| | -|m/2:4m/2 ]. kemuoi: | n/2; 3n/2 |.




Yy = COS X QYHKUUACBIHBIH 2aPuzin cany.
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Yy = COS X QYHKUUACBIHBIH 2PAUZIH Caly YUliH
y =sin x zpagucin OX ocimen conza n/2 napaneiv KOuwipy
KepeK

Sin (x + n/2) = sin x cos /2 + sin /2 cos x = cos x




Dyukuyus y = cos X.

1. Anvikmany oonavicol 0apnvik nakmol canoap. (R )

2. Mbanoep oonwvicer - [-1;5 1].
Dyukuyusa y = cos a yHwcyn, cos (- a) =cos a
4. @yukuusa nepuoomol - 2.
cos (a+ 2 ) = cos o.
5. @yukuus y30iKcis3.
6. Oceoi: | m; 2m]. Kemuoi: [0;m].
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